Geometry 1
Name:      
Homework on Scaling and Similarity


1.
There are two squares, ABCD and EFGH.  The sides of square ABCD each measure 6 cm, and the sides of EFHG are 1½ times as long as the sides of square ABCD.


a.
How long is a side of EFGH?       

b.
What is the perimeter of ABCD?       

c.
What is the perimeter of EFGH?       

d.
When reduced to lowest terms, what is 
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e.
What is the area of ABCD?       

f.
What is the area of EFGH?       

g.
When reduced to lowest terms, what is 
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h.
How long (exactly) is diagonal AC of ABCD?       

i.
How long (exactly) is diagonal EG of EFGH?       

j.
When reduced to lowest terms, what is 
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2.
The sides of a right triangle measure 6 cm, 8 cm and 10 cm.  The legs of a similar right triangle measure 9 cm and 12 cm.


a.
How long is the hypotenuse of the larger triangle?       


b.
When reduced to lowest terms, what is the ratio,                                        ?       


c.
When reduced to lowest terms, what is the ratio,                                 ?


DEF is similar to ABC and the scaling factor is 1.2.  Give the lengths of side DE, DF, and EF:



DE =       
DF =       
EF =       
4.
PQR is similar to MON and the scaling factor is 1.5.  If the area of MON is 100 square units, then what is the area of PQR?       
5.
a.
Suppose each side of square ABCD measures 6 cm, and you want to make square EFGH 



so that its perimeter is twice as much as the perimeter of ABCD.  Then how long should 



each side of EFGH be?       

b.
Suppose each side of square ABCD measures 6 cm, and you want to make square EFGH 



so that its area is twice as much as the area of ABCD.  Then how long should each side



of EFGH be?       
6.
Suppose 
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 AK = 4, EK = 9, and FK = 12.  Then what is the measure of AD?


7.
Find the ratio of the area of 
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to the area of 
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Problems 8-14:  The pairs of triangles are similar.  Find the value of x.


8.


x =      

9.



x =      

10.


x =      
11.


x =      
12.


x =      

13.


x =      

14.


x =      
15.
Lines  AB ,  CD  and  EF  are parallel.


Find  x, y, z, and 
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a.   x  =       


b.   y  =       


c.   z  =       

d.   
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